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O A EDIY S2AY E22(8Y) M
50,000& = 58 =« 23| 500
O MBRZHM RFL0 GHE S2Hl
8,000& = 3¥ » 10 » 123 2,880
O MBRBM RFH 235 7
1,804,000 1,804
O AMSIEAMIY Z2EBLMEIA U222
200,000& = 5% = 53 5,000
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50,000 * 58 x 23| 500
202 04| 3,000 3,000 0
01 2L I 3,000 3,000 0
O MEI)Y NEEE & 88X &%
20,000& = 39 = 53 = 10& 3,000
307 2Iz2t0| A 3,000 3,150 A 150
02 DI AAIRE E X 3,000 3,150 A 150
O AMIEIY 7Y JIESHAI & I
3,000,000& 3,000
405 XH&HF S HI 90,000 0 90,000
01 XA 2 FF S| 90,000 0 90,000
O MIEZM M3 82 ROIQHHAIAE 2l
30,000,000 * 34 90,000
AT EHSAIY (AR E DY) 615,863 445,032 170,831
hag 461,850
o=} 46,185
Al 107,828
307 212t0| & 615,863 445,032 170,831
g 461,850
o= 46,185
Al 107,828
02 QI2tAMAIE E X 615,863 445,032 170,831
O (OH)AISI =D Y dREIEHSAIY X
615,863,000& 615,863
g 461,850
= 46,185
Al 107,828
AP OHEHI X2 AFS (AFSI E DY) 75,811 176,568 A 100,757
= 53,073
= 9,095
Al 13,643
307 QI2t0| ™ 75,811 176,568 A 100,757
= 53,073
=} 9,095
Al 13,643
02 DIZHB AAIE E X 75,811 176,568 A 100,757
O (UlE)AISI®IY AFE IS HI X &
75,811,000 75,811
= 53,073
= 9,095
Al 13,643
AMISE2 X2 (AISE D) 95,758 54,738 41,020
Fag 67,031
o=} 8,618
Al 20,109
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02 QIZ2IA AAIE E X 95,758 54,738 41,020
O AMEEIH AMIBEEZ XA 95,758,000 95,758
Fag 67,031
= 8,618
Al 20,109
o271 =4 200,000 130,000 70,000
g 50,000
= 65,000
Al 85,000
402 SI2F X0l & 200,000 130,000 70,000
g 50,000
& 65,000
Al 85,000
02 QX2 A E X (0| & THS) 200,000 130,000 70,000
O 2019¢@ A ROIS21Y 4 o0& 0
O 20194 0Is21Y 218 4 o0& 0
O 2019¢ OtsSJ1g S35 AMY
50,000,000 * 202 100,000
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Al 50,000
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hsJIgs48 X 7,940 7,800 140
201 et d| 2,540 2,400 140
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80,000& * 7 *23| 1,120
202 044 2,400 2,400 0
01 2L I 2,400 2,400 0
O OISJIgs4d9e =X (fasds &)
20,000 = 3% * 42 x 108 2,400
301 et A= 3,000 3,000 0
09 #HAIAHI BEAZ 3,000 3,000 0
O DEJIYAIN U DREA
50,000 * 20 = 33| 3,000
ASIEAMIIE HFESHADN A& 319,200 0 319,200
= 168,000
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01 At 22l 10,820 10,820 0
O JIZ2gRF8 AR 2l 10,820,000& 10,820
202 oddl 9,704 9,704 0
01 S LHOYI 9,704 9,704 0
O JI2geF8 LAY 9,704,000 9,704
203 B R =&l 3,000 3,000 0
04 FEXNSELR=LH| 3,000 3,000 0
O BN2EHRFAHI(15Z0I5tH)
250,000& = 123 3,000
204 M= F | 1,200 1,200 0
01 ¥R 1,200 1,200 0
O g YRFZXHl 100,000& » 1H » 128 1,200
405 RHoHE S HI 3,600 0 3,600
01 et EZFH S 3,600 0 3,600
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